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Morphology

1. A specimen stained by Ozheshko method contains rod-like microorganisms stained blue with round terminal components stained red. What are these components called?


A. Flagella.
B. Cilia.
C. Mesosomes.
D. Capsules.
E. Spores.

2. A patient has a suspected pneumonia. In his sputum there were revealed grampositive diplococci, prolonged with the slightly pointed opposite ends. What microorganisms are revealed in the sputum?

A. Streptococcus pneumoniae. 
B. Staphylococcus aureus.

C. Neisseria gonorrhoeae. 
D. Klebsiella pneumoniae. 

E. Neisseria meningitides.

3. Fresh smears of vesicular fluid, blood, and lymph node of patient with a characteristic gelatinous edema and localized ulcer on the skin were stained with methylene blue and examined for the characteristic square-ended, blue streptobacilli surrounded by a capsule. Which of the following bacterium was revealed?

A. Bacillus anthracis.

B. Brucella abortus.
C. Yersinia pestis.


D. Klebsiella pneumoniae.
E. Clostridium tetani.

4. During the staining of sputum smear of a patient with suspected croupous pneumonia the following reactives and stainers were used: gentian violet solution, Lugol's solution, 96° spiritus and water fuchsin. What method of staining is used in this case?

A. Romanovsky. 

B. Loeffler.

C. Ziehl-Neelsen. 

D. Neisser.


E. Gram.

5. Gram-negative bean-shaped diplococcus inside and outside of leucocytes were detected on bacteriological examination of the purulent exudates from the cervix of the uterus. Name the causative agent of purulent inflammation of the cervix of the uterus.

A. Neisseria gonorrhoeae. 
B. Chlamydia trachomatis.       

C. Escherichia coli. 
D. Staphylococcus aureus.  E. Trichomonas vaginalis.

6. Patient with diarrhoea was admitted to the infection unit. Gram-negative curved rod-like bacteria were founded on bacterioscopic examination of faecal masses. What is the most likely disease in this patient?

A. Intestinal form of plague. 

В. Diphtheria. 
С. Typhoid fever. 


D.Cholera.


E. Salmonellosis gastroenteritis
7. Vomiting matters of a patient suspected of having cholera were delivered to the bacteriological laboratory. The material was used for preparing a "hanging drop" specimen. What type of microscopy will be applied for identification of the causative agent by its mobility?

A. Fluorescence microscopy.
B. Electron microscopy.

C. Phase-contrast microscopy.

D. Immersion microscopy.
E. Immune and electron microscopy.

Physiology

1. The sterile Petri dishes and pipettes are necessary to prepare for microbiological tests in bacteriological laboratory. What way of sterilization should be applied in this case?
A. Dry-heat sterilization.

B. Boiling.

C. Tyndallization.
D. Pasteurization.


E. Steam sterilization in autoclave.

2. On bacteriological examination of the defecation of a 4-months-old baby with the symptoms of acute bowel infection there were revealed red colonies spread in the large quantity in the Endo medium. What microorganism can it be?

A. Shigellа.

B. Staphylococcus. 

C. Escherichia. 

D. Salmonella. 
E. Streptococcus.

3. S. aureus was isolated from the draining neck wound of a hospitalized patient. Which of the following is indicator medium to show haemolytic properties of S. aureus:


A. Blood agar.

B. Meat pepton agar.
C. Meat pepton broth.


D. Egg yolk agar.

E. Serum agar.

4. On bacteriological study of rinsing water of the patient with food poisoning, the pure bacterial culture was inoculated with the following properties: gram-negative motile bacillus in the Endo environment grows like achromatic colony. Representative of what genus has caused the illness?

A. Citrobacter.

B. Yersinia.

C. Salmonella.

D. Shigella.

E. Escherichia.

5. Bacteriological examination of the patient with food poisoning required inoculation of a pure culture of bacteria with the following properties: gram-negative movable bacillus that grows in the Endo’s medium in form of colourless colonies. A representative of which species caused this disease?

A. Citrobacter.

B. Yersinia.

C. Salmonella.

D. Shigella.

E. Escherichia.

Infection

1. A patient recovered from Sonne dysentery and was once more infected with the same causative agent. What is such infection form called?


A. Reinfection.
B. Persisting infection.
C. Superinfection. 


D. Recidivation. 
E. Chronic infection.

2. A doctor made the diagnosis of gonorrhoea. It was known from the anamnesis that a patient had had gonorrhoea before and he had been treated completely. What type of infection can this new disease be attributed to?

A. Secondary infection. 

B. Superinfection.
C. Autoinfection.

D. Reinfection. 


E. Relapse.

Immunology

1. In a patient with clinical signs of immunodeficiency the number and functional activity of T and B lymphocytes are not changed. Defect with dysfunction of antigenpresentation to the immunocompetent cells was found during investigation on the molecule level. Defect of what cells is the most probable?

A. 0-lymphocytes.

B.Fibroblasts, T-lymphocytes, B-lymphocytes.

C. T-lymphocytes, B-lymphocytes.
D. NK-cells.   E. Macrophages, monocytes.

2. Live vaccine is injected into the human body. Increasing activity of what cells of connective tissue can be expected?

A. Adipocytes and adventitious cells. 
B. Macrophages and fibroblasts. 

C. Fibroblasts and labrocytes. 

D. Plasmocytes and lymphocytes. 

E. Pigmentocytes and pericytes.

3. A 27- year-old woman has dropped penicillin containing eye drops. In few minutes she felt itching, burning of her body, there appeared lips and eye-lids edemata, arterial pressure began to drop. What immunoglobulins took part in the development of this allergic reaction?

A. IgM and IgG. 
B. IgM and IgD. 
C. IgA and IgM. 

D. IgG and IgD. 
E. IgE and IgG.

4. The person was selling "homemade pork" sausages on the market. State sanitary inspector suspected falcification of the sausages. With help of what serological immune reaction can food substance be identified?

A. Complement fixation test. 
B. Agglutination test.


C. Precipitation test.

D. Immunofluorescence test.

E. Indirect hemagglutination test.

5. Donor skin transplantation was performed to a patient with extensive burns. On the 8-th day the graft became swollen and change colour; on the 11-th day graft rejection started. What cells take part in this process?


A. Basophils.

B. Erythrocytes.
C. T-lymphocytes.

D. B-lymphocytes.

E. Eosinophils.

6. A patient visited a dentist with copmlants of rednedd and edema of his mouth mucouus membrane in a month after dental prosthesis. The patient was diagnosed with allergic stomatitis. What type of allergic reaction by Gell and Cumbs underlies this disease?


A. Anaphylactic.

B. Delayed type hypersensitivity.
C. Stimulating.

D. Immunocomplex.
E. Cytotoxic.

7. A child with diphtheria 10 days after injection of antitoxic antidiphtherial serum has developed skin rash, accompanied by severe itch, rising temperature up to 38°C and joints pain. What is the cause of these symptoms?

A. Contact allergy.

B. Anaphylactic reaction. 

C. Serum sickness.

D. Delayed type of hypersensitivity. 

E. Atopia.

8. On the 8th day since the patient was inoculated with antitetanic serum because of dirty wound of his foot he has developed rising temperature up to 38°C, pains in the joints, rash and itch. The blood tests revealed leukopenia and thrombocytopenia. Allergic reaction of what type has developed in this case?

A. Delayed type of hypersensitivity. 
B. Anaphylactic.
C. Cytotoxic.

D. Immunocomplex. 


E. Stimulating.

9. A 27-year-old woman has dropped penicillin containing eye drops. In few minutes there appeared feeling of itching, burning of the skin, lips and eyelids edema, whistling cough, decreasing of the blood pressure. What antibodies take part in the development of this allergic reaction?

A. IgM and IgG. 

B. IgM and IgD. 


C. IgA and IgM. 

D. IgG and IgD. 

E. IgE and IgG.

10. A 30 year old woman has applied a lipstick with a fluorescent substance for a long time. Then she got a limited erythema and slight peeling on her lip border, later there appeared transversal striae and cracks. Special methods of microscopic examination of the affected area helped to reveal sensibilized lymphocytes and macrophages in the connective tissue; cytolysis. What type of immunological hypersensitivity was developed?


A. IV type (cellular cytotoxicity).
B. III type (immune coplex cytotocxicity).


C. II type (antibody cytotoxicity).
D. I type ( reaginic).


E. Granulomatosis.

11. In order to speed up healing of a wound of oral mucosa a patient was prescribed a drug that is a thermostable protein occurring in tears, saliva, mother’s milk as well as in a new-laid hen’s egg. It is known that this protein is a factor of natural resistance of a organism. What is it called?


A. Interleukin. 

B. Lysozyme.
 C. Imanine. 


D. Interferon. 

E. Complement.

12. A boy 1,5 years old, that has not got a vaccination against measles, got in touch with an infected man. This child was admitted the donor gammaglobulin. Which type of immunity is done by transfer of serum or gammaglobulin?
A. Passive.

В. Natural.
С. Antitoxic.

D. Active.
Е. Local.

13. A large-scale reaction with parapertusis and pertusis diagnosticums was made in order to make serological diagnostics of the whooping cough. At the bottom of the test-tubes with diagnosticum of Bordetella parapertusis a granular sediment formed. What antibodies did this reaction reveal:


A. Precipitins.

B. Agglutinins.

C. Opsonins.



D. Bacteriolysins.

E. Antitoxins.

14. In order to estimate toxigenicity of diphtheria agents obtained from patients the cultures were inoculated on Petri dish with nutrient agar on either side of a filter paper strip that was put into the centre and moistened with antidiphtheric antitoxic serum. After incubation of inoculations in agar the strip-like areas of medium turbidity were found between separate cultures and the strip of filter paper. What immunological reaction was conducted?


A. Coomb’s test.
B. Opsonization reaction.
C. Agglutination reaction.



D. Rings precipitation reaction.

E. Precipitation gel reaction.

15. To detect toxin production of causative agent of diphtheria bacteria were seeded on Petri dish with nutrient medium and serological method was used which is based on the principle that diffusion of the antibody and antigen through agar can form stable and easily observable immune complex. Which of the following tests was used?
А. Double immunodiffusion assay.

В. Ring precipitation test.
С. Agglutination test.

D. Coomb’s test.
Е. Hemagglutination test.
16. Planned mass vaccination of all newborn 5-7 days old children against tuberculosis plays an important role in tuberculosi prevention. In this case the following vaccine is applied:


A. BCG.

B. Absorbed diphtheria vaccine.


C. Diphtheria and tetanus anatoxin vaccine.


D. Diphtheria and tetanus toxoid and pertussis vaccine.

E. – 

17. Tuberculine was injected intracutaneously to the child for tuberculin test. Marked hyperemia, tissue infiltration developed on the place of injection in 24 hours. What mechanism caused these modifications?

A. Cells cytotoxity.

B. Reagin type cytotoxity.


C. Granuloma formation.
D. Immunocomplex cytotoxity.
E. Antibody cytotoxity.

18. 48 hours after performing tuberculin test (Mantoux test) to a child a 10 mm papule appeared on the spot of tuberculin introduction. What hypersensitivity mechanism underlies these changes?

A. Cellular cytotoxicity.

B. Anaphylaxy.
C. Granulomatosis.

D. Immune complex cytotoxicity.
E. Antibody-dependent cytotoxicity.

19. A 10-year-old child had the Mantoux tuberculin test administered. 48 hours later a papule up to 8 mm in diameter appeared on the site of the injection. What type of hypersensitivity reaction developed after the tuberculin injection?


A. Atopic reaction. 

B. Seroreaction.
C. Arthus phenomenon.


D. Type II hypersensitivity reaction.
        E. Type IV hypersensitivity reaction.

20. Quite often the cause of secondary immunodeficiency is an infection involvement, when the causative agents propagate directly in the cells of immune system and destroy it. The following diseases are characterized by:


A. Tuberculosis, mycobacteriosis.
B. Dysentery, cholera.


C. Poliomyelitis, type A hepatitis.
D. Infectious mononucleosis, AIDS.


E. Q-febris, epidemic typhus.

21. A female patient underwent liver transplantation. 1,5 month after it her condition became worse because of reaction of transplantant rejection. What factor of immune system plays the leading part in this reaction?

A. T-helpers.
B. B-lymphocytes.  C. T-killers.

D. Natural killers.
E. Interleukin-1

22. A patient has been diagnosed with acute glomerulonephritis that developed after he had had streptococcal infection. It is most likely that the affection of basal glomerular membrane is caused by an allergic reaction of the following type:

A. Immune complex.

B. Delayed.

C. Stimulating.

D. Anaphylactic.

E. Cytotoxic.

23. Serological diagnostics of infectious diseases is based upon specific interaction with antigens. Specify the serological reaction that underlies adhesion of microorganisms when they are affected by specific antibodies in presence of an electrolyte:

A. Precipitation reaction.

B. Agglutination reaction.


C. Hemadsorpsion reaction.

D. Neutralization reaction

E. Complement-binding reaction.

ANTIBIOTICS
1. The patient with pneumonia was treated with antibiotics for a long period. After treatment patient complains of frequent and watery stool, abdominal pain. What is the reason of intestine function disorder?
A. Bacteria toxins influence.

B. Intestinal disbacteriosis development.

C. Hereditary enzyme defect.

D. Antibiotics toxic influence on the GIT.

E. Autoimmune reaction development
2. A 7 year old child is ill with bronchitis. It is necessary to administer him an antibacterial drug. What drug of fluoroquinolone group is CONTRA-INDICATED at this age?

A. Amoxicillin.
B. Sulfadimethoxine.
C. Ampicillin.

D. Ampiox.

E. Cyprofloxacin.

3. Patient was admitted to the infection unit with diagnosis of bacterial dysentery. On laboratory studies it was revealed that causative element is sensitive to the many antimicrobial medicines, but patient has anemia. What medicine is contra-indicated to the patient?
A. Enteroseptol. 

B. Phthalazol. 
C. Levomycetin. 

D. Ampicillin.

E. Furazolidone.
4. Patient with pneumonia has intolerance to antibiotics. Which of the combined sulfanilamide medicines should be prescribed to the patient?
A. Aethazol. 
B. Biseptol.

C. Sulfadimethoxine.

D.Streptocid.
E. Natrium sulfacyl.
5. A patient develops intestinal disbacteriosis after prolonged use of antibiotics. Which of the following drugs should be prescribed to restoration of the normal microflora:


A. Antifungal agents.

B. Sulfonamides.
C. Interferon.


D. Probiotics (eubiotics). 
E. Immunoglobulins
6. As a result durative antibiotic therapy a 37-year-old patient developed intestinal dysbacteriosis. What type of drugs should be used in order to normalize intestinal microflora?


A. Sulfanilamides. 
B. Bacteriophages.

C. Eubiotics.


D. Autovaccines.

E. Vitamines.

7. A stomatologist examined first-grade pupils and revealed that one of children had yellowish brown teeth, two of them were split. Here to fore the pupil was treated with ‘some pills’ on account of pneumonia. What medication could have had such a negative effect upon teeth?

A. Erythromycin.
B. Ampicillin.
C. Oxacillin.

D. Biseptol.
E. Doxycycline.
8. A 5 year old child has been diagnosed with acute right distal pneumonia. Sputum inoculation revealed that the causative agent is resistant to penicillin, but sensitive to macrolides. What drug should be prescribed?


A. Azithromycin. 
B. Streptomycin. 
C. Ampicillin.


D. Gentamycin.

E. Tetracyclin.

GENETICS
1. You are studying functioning of a bacteria operon. The operator gene has been released from the repressor gene. Immediately after this the following process will start in the cell: 

A. Translation.  B. Repression.
C. Transcription.
D. Replication.
E. Processing.
Staphylococci

1. Because of suspected intrahospital infection in the neonatal department of the maternity home the inspection was carried out. In some children and on some general things Staphylococcus aureus was revealed. What properties of these cultures allow to establish their origin from one source?

A. Antibioticogramma. 

B. Phagotype.

C. Biochemical activity. 

D. Chromogenesis.
E. Antigenic structure.

3. In the surgical department of a hospital there was an outbreak of hospital infection that showed itself in often postoperative wound abscesses. Bacteriological examination of pus revealed aurococcus. What examination shall be conducted to find out the source of this causative agent among the department personnel?


A. Serological identification.

B. Microscopical examination.


C. Estimation of antibiotic susceptibility.


D. Phagotyping.



E. Biochemical identification.

4. Examination of a patient with pustular skin lesions allowed to isolate a causative agent that forms in the blood agar roundish yellow middle-sized colonies surrounded by haemolysis zone. Smears from the colonies contain irregular-shaped clusters of gram-positive cocci. The culture is oxidase- and catalase-positive, ferments mannitol and synthesizes plasmocoagulase. What causative agent was isolated?


A. Streptococcus agalactiae.
B. Staphylococcus epidermidis.


C. Staphylococcus aureus.

D. Staphylococcus saprophyticus.


E. Streptococcus pyogenes.

5. S. aureus was isolated from the draining neck wound of a hospitalized patient. Which of the following is indicator medium to show haemolytic properties of S. aureus:


A. Blood agar.
B. Meat pepton agar.
C. Meat pepton broth.


D. Egg yolk agar.

E. Serum agar.

6. On bacteriological examination of the sputum of a patient with the wound infection there were revealed colonies spread in the large quantity in the blood medium surrounding by zones of haemolysis, arranged in grape-like clusters. What microorganism can it be?

A. Shigellа.


B. Staphylococcus.
C. Escherichia. 

D. Salmonella. 

E. Streptococcus.

7. A 65-year-old man has purulent abscess on his neck. Analysis revealed a culture of gram-positive cocci with plasmocoagulase activity. This culture relates most likely to:


A. Streptococcus pyogenes.
B. Staphylococcus epidermidis.


C. Staphylococcus aureus.
D. Staphylococcus saprophiticus.
E. -.
8. Because of suspected intrahospital infection in the neonatal department of the maternity home the inspection was carried out. In some children and on some general things Staphylococcus aureus was revealed. What properties of these cultures allow establish their origin from one source?

A. Antibioticogramma.

B. Phagotype.

C. Biochemical activity.

D. Chromogenesis.
E. Antigenic structure.

9. A 55-year-old male patient was hospitalised to a surgical clinic for suspected septicemia. What material should be taken for analysis?

A. Blood, sugar broth. 
B. Pus, yolk saline agar.

C. Liquor, serum agar.

D. Lymph node punctate, cysteine agar.

E. Urine, beef-extract broth

Streptococci
1. A patient has a suspected pneumonia. In his sputum there were revealed grampositive diplococci, prolonged with the slightly pointed opposite ends. What microorganisms are revealed in the sputum?

A. Streptococcus pneumoniae. 
B. Staphylococcus aureus.

C. Neisseria gonorrhoeae. 

D. Klebsiella pneumoniae. 

E. Neisseria meningitides.

2. Blood of a patient with presumptive sepsis was inoculated into sugar broth. There appeared bottom sediment. Repeated inoculation into blood agar caused growth of small transparent round colonies surrounded by hemolysis zone. Examination of a smear from the sediment revealed Gram-positive cocci in form of long chains. What microorganisms are present in blood of this patient?


A. Micrococci.
B. Staphylococci.
 C. Streptococci.


D. Sarcina.

E. Tetracocci.

3. In a 2-year-old child with catarrhal presentations and skin rash a pediatrician suspected scarlet fever. The child was given intracutaneously a small dose of serum antibody to the streptococcal erythgenic toxin; on the site of injection the rash disappeared. What do the reaction results mean?


A. The child has hypersensitivity to the erythrogenic toxin.


B. The whole serum dose may be injected intravenously.


C. The clinical diagnosis was confirmed.


D. The child has very weak immune system.


E. The disease wasn’t caused by haemolytic streptococcus.

4. During examination of a patient a dentist revealed a lot of “white zones” of enamel demineralization. What microorganisms take part in the development of this process?


A. Veilonella parvula.

B. Staphylococcus epidermidis.


C. Streptococcus mutans.
D. Streptococcus salivarius.


E. Streptococcus pyogenes.
5. A 7 year old child often suffers from streptococcic angina. Doctor suspected development of rheumatism and administered serological examination. The provisional diagnosis will be most probably confirmed by presence of antibodies to the following streptococcic antigen:


A. O-streptolysin.



B. C-carbohydrate.

C. M-protein.



D. Capsular polysaccharide.

E. Erythrogenic toxin.
6.  Analysis of sputum taken from a patient with suspected pneumonia revealed rather elongated gram-positive diplococci with somewhat pointed opposite ends. What microorganisms were revealed in the sputum?

A. Neisseria gonorrhoeae.
B. Staphylococcus aureus. C. Klebsiella pneumoniae.

D. Neisseria meningitidis.
E. Streptococcus pneumoniae.

Neisseria

1. Gonorrhoea was revealed in the patient on bacterioscopy of the smear from urethra. Taking into account that medecines for gonorrhoea are fluorquinolones, patient should be prescribed:

A. Ciprofloxacin. 
B. Fluorouracil. 
C. Cefazoline. 

D. Urosulfan.

E. Furazolidone.

2. A doctor made the diagnosis of gonorrhoea. It was known from the anamnesis that a patient had had gonorrhoea before and he had been treated completely. What type of infection can this new disease be attributed to?

A. Secondary infection. 

B. Superinfection.
C. Autoinfection.

D. Reinfection. 


E. Relapse.

3. During the bacteriological tests of the purulent secreta from urethra there were found bacteria, which according to Gram were negatively staining, looked like coffee beans. These bacteria were splitting glucose to acid, they were located inside the leucocytes. The etiological agent of what disease are these microorganisms?

A. Syphilis.

B. Melioidosis. 

C. Chancroid. 

D. Gonorrhoea. 
E. Venereal lymphogranulomatosis.

4. A patient who came to the doctor because of his infertility was administered to make tests for toxoplasmosis and chronic gonorrhoea. Which reaction should be performed to reveal latent toxoplasmosis and chronic gonorrhoea of the patient?

A. IFA - Immunofiuorescence assay.


B. (R)CFT- Reiter's complement fixation test.
C. RIHA - Reverse indirect hemagglutination assay.
D. RDHA - Reverse direct hemagglutination assay.
E. Immunoblot analysis.

5. Gram-negative bean-shaped diplococcus inside and outside of leucocytes were detected on bacteriological examination of the purulent exudates from the cervix of the uterus. Name the causative agent of purulent inflammation of the cervix of the uterus.

A. Neisseria gonorrhoeae. 
B. Chlamidia trachomatis.       

C. Escherichia coli. 
D. Staphylococcus aureus.     E. Trichomonas vaginalis.

6. Bacteriologic examination of the cerebrospinal fluid (CSF) of a 6-year-old girl with suspected meningitis results in the isolation of a Gram-negative diplococcus that grows in chocolate agar and is oxidase positive. Which type of antibacterial should be selected for the treatment of this patient? 

A. Cause misreading of bacterial messenger RNA (mRNA).

B. Inactivate DNA-dependent RNA polymerase.

C. Inhibit DNA gyrase.




D. Inhibit peptidoglycan cross-linking.

E. Prevent elongation of bacterial polypeptide chains.

7. Clinical diagnosis of a female patient was gonorrhoea. What examination method can be applied for confirmation of this diagnosis?


A. Infection of laboratory animals.

B. Test with bacteriophage.


C. Immobilization reaction.


D. Hemagglutination reaction.


E. Microscopy of pathological material.

E.coli

1. From the defecation of a 6-year-old ill child, who has artificial feeding, the intestinal bacillus with antigen structure 0-111 is excreted. What is the diagnosis?

A. Disentery-like diseases.
B. Gastroenteritis.
C. Food poisoning.

D. Colienteritis.


E. Cholera-like diseases.

2. On bacteriological examination of the defecation of a 4-months-old baby with the symptoms of acute bowel infection there were revealed red colonies spread in the large quantity in the Endo medium. What microorganism can it be?

A. Shigellа.

B. Staphylococcus. 

C. Escherichia. 

D. Salmonella. 
E. Streptococcus.

3. Among junior children of an orphanage an outbreak of intestinal infection with signs of colienteritis was registered. In order to identify isolated causative agent it is necessary to:


A. Study biochemical properties of the causative agent.


B. Study virulence of the causative agent.


C. Study antigenic properties of the causative agent.


D. Study sensitivity to bacteriophages.


E. Determine sensitivity to antibiotics.
Salmonella

1. On bacteriological study of rinsing water of the patient with food poisoning, the pure bacterial culture was inoculated with the following properties: gram-negative motile bacillus in the Endo environment grows like achromatic colony. Representative of what genus has caused the illness?

A. Citrobacter.
B. Yersinia.
C. Salmonella.
D. Shigella.
E. Escherichia.

2. Bacteriological examination of the patient with food poisoning required inoculation of a pure culture of bacteria with the following properties: gram-negative movable bacillus that grows in the Endo’s medium in form of colourless colonies. A representative of which species caused this disease?

A. Citrobacter.

B. Yersinia.

C. Salmonella.

D. Shigella.

E. Escherichia.

3. Reaction of passive hemagglutination conducted with erythrocytic typhoid Vi-diagnosticum helped to reveal some antibodies in the dilution of the patient’s serum at a ratio 1:80 that exceeds the diagnostic titer. Such result witnesses of:


A. Being a potential carrier of typhoid bacilli.


B. Incubation period of typhoid fever.


C. Reconvalescence of a patient ill with typhoid fever.


D. Being ill with acute typhoid fever.


E. Typhoid fever recurrence.

4. A 50-year old patient with typoid fever was treated with Levomycetin, next day his condition became worse, temperature rose to 39,60C. What caused the complication?


A. Reinfection.
B. Secondary infection. 

C. The effect of endotoxin agent.

D. Irresponsiveness of an agent to the levomycetin.

E. Allergic reaction.

5. During the repeated Widal’s agglutination test it was noticed that the ratio of antibody titers and O-antigens S.typhi in the patient’s serum had increased from 1:100 to 1:400. How would you interpret these results?


A. The patient was previously vaccinated against typhoid fever.


B. The patient has typhoid fever.


C. The patient is a chronic carrier of typhoid microbes.


D. The patient is an acute carrier of typhoid microbes.


E. The patient previously had typhoid fever.
Shigella

1. For the purpose of retrospective diagnostics of recent bacterial dysentery it was decided to perform serological examination of blood serum in order to determine antibody titer towards Shiga bacilli. What of the following reactions should be applied?


A. Bordet-Gengou test.

B. Bacteriolysis.


C. Hemolysis.

D. Passive hemagglutination.

E. Precipitation.

2. A patient recovered from Sonne dysentery and was once more infected with the same causative agent. What is such infection form called?


A. Reinfection.
B. Persisting infection.
C. Superinfection. 


D. Recidivation. 
E. Chronic infection.

3. Patient was admitted to the infection unit with diagnosis of bacterial dysentery. On laboratory studies it was revealed that causative element is sensitive to the many antimicrobial medicines, but patient has anemia. What medicine is contra-indicated to the patient?

A. Enteroseptol. 

B. Phthalazol. 

C. Levomycetin. 

D. Ampicillin. 


E. Furazolidone.

Cholera

1. Patient with diarrhoea was admitted to the infection unit. Gram-negative curved rod-like bacteria were founded on bacterioscopic examination of faecal masses. What is the most likely disease in this patient?

A. Intestinal form of plague. 

В. Diphtheria. 
С. Typhoid fever. 


D.Cholera.


E. Salmonellosis gastroenteritis
2. Vomiting matters of a patient suspected of having cholera were delivered to the bacteriological laboratory. The material was used for preparing a "hanging drop "specimen. What type of microscopy will be applied for identification of the causative agent by its mobility?

A. Fluorescence microscopy.
B. Electron microscopy.

C. Phase-contrast microscopy.
D. Immersion microscopy.

E. Immune and electron microscopy.

3. A patient had been suffering from profuse diarrhea and vomiting for 2 days. He died from acute dehydration. Autopsy revealed that the intestinal wall was edematic and hyperemic, with multiple haemorrhages in the mucous membrane. Intestine lumen contains whitish fluid resembling of rice water. What disease caused death?


A. Salmonellosis.

B. Tyfoid fever.
C. Enterocolitis.


D. Cholera.


E. Dysentery.

Diphtheria

1. A patient with suspected diphtheria went through bacterioscopic examination. Examination of throat swab revealed rod-shaped bacteria with volutin granules. What etiotropic preparation should be chosen in this case?


A. Antidiphtheric antitoxic serum.

B. Eubiotic.


C. Bacteriophage.

D. Interferon.
E. Diphtheria antitoxin.

2. From the nasopharynx of a 5-year-old child a microorganism was excreted which is identical to Corynebacterium diphtheriae dose according to morphological and biochemical signs. Microorganism does not produce exotoxin. As a result of what process can this microorganism become toxigenic?
A. Phage conversion.


B. Cultivation in the telluric environment.

C. Growing with antitoxic serum.
D. Chromosome mutation.

E. Passing through the organism of the sensative animals.
3. In order to estimate toxigenicity of diphtheria agents obtained from patients the cultures were inoculated on Petri dish with nutrient agar on either side of a filter paper strip that was put into the centre and moistened with antidiphtheric antitoxic serum. After incubation of inoculations in agar the strip-like areas of medium turbidity were found between separate cultures and the strip of filter paper. What immunological reaction was conducted?


A. Coomb’s test.



B. Opsonization reaction.

C. Agglutination reaction.



D. Rings precipitation reaction.

E. Precipitation gel reaction.

4. To detect toxin production of causative agent of diphtheria bacteria were seeded on Petri dish with nutrient medium and serological method was used which is based on the principle that diffusion of the antibody and antigen through agar can form stable and easily observable immune complex. Which of the following tests was used?
А. Double immunodiffusion assay.

В. Ring precipitation test.
С. Agglutination test.

D. Coomb’s test.
Е. Hemagglutination test.
5. Inoculum from pharynx of a patient ill with angina was inoculated into blood-tellurite agar. It resulted in growth of grey, radially striated (in form of rosettes) colonies 4-5 mm in diameter. Gram-positive bacilli with clublike thickenings on their ends placed in form of spread wide apart fingers are visible by microscope. What microorganisms are these?


A. Streptococci.

B. Botulism clostridia.
C. Diphtheroids.


D. Streptobacilli.

E. Diphtheria corynebacteria.

6. Bacterioscopic examination of a smear from the pharynx of a diphtheria suspect revealed bacilli with volutine granules. What etiotropic drug should be chosen in this case?


A. Diphtheric anatoxin.



B. Eubiotic.


C. Antidiphtheritic antitoxic serum.
D. Bacteriphage.
E. Interferon.

7. The patient has developed respiratory symptoms, intoxication, and throat membrane. He was diagnosed diphtheria. What treatment must be administered to him?

А. Diphtheria serum.
В. DPT.
С. BCG.
D. Diphtheria toxoid.

Е. Tetanus toxoid

8. A child with diphtheria 10 days after injection of antitoxic antidiphtherial serum has developed skin rash, accompanied by severe itch, rising temperature up to 38°C and joints pain. What is the cause of these symptoms?

A. Contact allergy.
B. Anaphylactic reaction. 
C. Serum sickness.

D. Delayed type of hypersensitivity. 


E. Atopia.

9. After inoculation of the material obtained from the pharynx of a angina patient onto the blood-tellurite agar, grey colonies could be observed. They were 4-5 mm in diameter, radially striated (in form of rosettes). Microscopical examination revealed pram-positive bacilli with clavate swollen ends arranged in form of wide-spread fingers. Identify these microorganisms:


A. Diphteroides.


B. Streptococci.
C. Clostridium botulinum.


D. Corynebacteria diphtheriae.
E. Streptobacilli.

10. A 4-year-old child presents with general weakness, sore throat and deglutitive problem. After his examination a doctor suspected diphtheria and sent the material to the bacteriological laboratory. In order to determine the diphtheria causative agent the material should be inoculated into the following differential diagnostic medium:

A. Blood tellurite agar.

B. Ploskyrev's agar.
C. Levenshtein-Yessen agar.

D. Sabouraud's agar.

E. Endo's agar.

11. In order to determine toxigenicity of diphtheria bacilli a strip of filter paper impregnated with antitoxic diphtherial serum was put on the dense nutrient medi​um. There were also inoculated a microbal culture under examination and a strain that is known to be toxigenic. If the microbal culture under examination produces exotoxin, this will result in formation of:

A. Precipitin ring.

B. Zones of diffuse opacification.
C. Haemolysis zones.

D. Precipitin lines.
E. Zones lecithovitellinase activity.

12. A sample taken from the pharynx of a patient with angina was inoculated on the blood-tellurite agar. This resulted in growth of grey, radially striated (in form of rosettes) colonies up to 4-5 mm in diameter. Microscopically there can be seen gram-positive rods with club-shaped ends arranged in form of spread fingers. What microorganisms are these?

A. Clostridium botulinum.

B. Corynebacterium diphtheriae.

C. Diphtheroids.


D. Streptococci.

E. Streptobacilli.

Tuberculosis

1. Tuberculine was injected intracutaneously to the child for tuberculin test. Marked hyperemia, tissue infiltration developed on the place of injection in 24 hours. What mechanism caused these modifications?

A. Cells cytotoxity.

B. Reagin type cytotoxity.


C. Granuloma formation.
D. Immunocomplex cytotoxity.
E. Antibody cytotoxity.

2. Tuberculosis can be treated by means of combined chemotherapy that includes substances with different mechanisms of action. What antituberculous medication inhibits transcription of DNA into RNA in mycobacteria?


A. Isoniazid.

B. Streptomycin.
C. Rifampicin.

D. Ethionamide.

E. Para-aminosalicylic acid.

3. While registering the child to the school Mantoux test was made to define whether revaccination was needed test result is negative. What does this result of the test mean?

A. Presence of antibodies for tubercle bacillus.

B. Absence of antitoxic immunity to the tuberculosis.

C. Absence of antibodies for tubercle bacillus.

D. Presence of cell immunity to the tuberculosis.

E. Absence of cell immunity to the tuberculosis.

4. The first grade pupils were examined in order to sort out children for tuberculosis revaccination. What test was applied for this purpose?

A. Burnet test.

B. Supracutaneous tularin test.

C. Scheck test.

D. Mantoux test.

E. Anthraxine test.

5. 48 hours after performing tuberculin test (Mantoux test) to a child a 10 mm papule appeared on the spot of tuberculin introduction. What hypersensitivity mechanism underlies these changes?

A. Cellular cytotoxicity.

B. Anaphylaxy.
C. Granulomatosis.

D. Immune complex cytotoxicity.
E. Antibody-dependent cytotoxicity.

6. Microscopy of stained (Ziehl-Neelsen staining) smears taken from the sputum of a patient with chronic pulmonary disease revealed red bacilli. What property of tuberculous bacillus was shown up?


A. Alcochol resistance.
B. Capsule formation.
C. Sporulation.


D. Alkali resistance.
E. Acid resistance.

7. Planned mass vaccination of all newborn 5-7 days old children against tuberculosis plays an important role in tuberculosi prevention. In this case the following vaccine is applied:


A. BCG.

B. Absorbed diphtheria vaccine.


C. Diphtheria and tetanus anatoxin vaccine.


D. Diphtheria and tetanus toxoid and pertussis vaccine.

E. – 

8. A consumptive patient has an open pulmonary form of disease. Choose what sputum staining should be selected for finding out the tubercle (Koch’s) bacillus? 


A. Method of Ziehl-Neelsen..

B. Method of Neisser. C. Method of Gram


D. Method of Romanowsky-Giemsa.
E. Method of Burri-Gins.




9. In patient’s sputum with suspected tuberculosis there were revealed fair long rods colored red on the blue background. Which of the following method of staining were used:


A. Gram’s stain.


B. Gimsa’s stain.

C. Neisser’s stain.


D. Ziehl-Neelsen’s stain.
E. Loeffler’s stain.

10. A 10-year-old child had the Mantoux tuberculin test administered. 48 hours later a papule up to 8 mm in diameter appeared on the site of the injection. What type of hypersensitivity reaction developed after the tuberculin injection?


A. Atopic reaction. 
B. Seroreaction.
C. Arthus phenomenon.


D. Type II hypersensitivity reaction.
E. Type IV hypersensitivity reaction.
11. Study of bacteriological sputum specimens by the Ziel-Neelsen method revealed some bright-red acid-resistant bacilli that were found in groups or singularly. When inoculated onto the nutrient media, the sings of their growth show up on the 10-15 day. These bacteria relate to the following family:


A. Yersinia pseudotuberculosis.
B. Klebsiella rhinoscleromatis.


C. Coxiella burnettii.


D. Histoplasma dubrosii.


E. Mycobacterium tuberculosis.

12. A bacteriological laboratory received sputum sample of a patient suffering from tuberculosis. Bacterioscopical examination of smears and detection of tuberculosis bacillus can be realized by one of enrichment methods that involves processing of sputum only with solution of caustic soda. What is this method called?


A. Filtration.


B. Flotation.

C. Neutralization.

D. Homohenization.
E. Inactivation.
13. 48 hours after tuberculine test (Mantoux test) a child had a papule 10 mm in diameter on the spot of tuberculine injection. What hypersensitivity mechanism underlies these changes?


A. Antibody-dependent cytotoxicity.
B. Granulomatosis.


C. Immunocomplex cytotoxicity.

D. Anaphylaxy.
E. Cellular cytotocicity.
14. A 45-year-old male died from disseminated tuberculosis. On autopsy the symptoms of tuberculosis were confirmed by both microscopical and histological analysis. All the affected organs had epithelioid cell granulomas with caseous necrosis in the centre. What kind of hypersensitivity reaction underlies the process of granuloma devepopment?

A. Antibody-dependent cytotoxicity.
B. Complement-dependent cytotoxicity.

C. Immune complex.


D. Anaphylactic.

E. Delayed.
Anaerobes

1. Patient with vomiting, dizziness, sensation of double vision, difficult swallowing was admitted to the hospital. Doctor suspects botulism. What diagnostic methods should be used for diagnosis approving?

A. Serological, microscopical.

B. Biological test, bacteriological. 

C. Protozoological, microscopical. 
D. Bacteriological, mycological. 

E. Allergic test, serological.

2. A laboratory received a material from a patient’s wound. Preliminary diagnosis is gaseous gangrene. What microbiological method should be applied to determine species of causative agent?
A. Bacterioscopic.

B. Serological.

C. Bacteriological.

D. RIA.

E. Allergic.
3. Bacteriological laboratory examines canned meat whether it contains botulinum toxin. For this purpose an extract of test specimen and antitoxic antibotulinic serum of A, B, E types were introducted to a group of mice under examination; a control group of mice got the extract without antibotulinic serum. What serological reaction was applied?


A. Opsono-phagocytic.

B. Double immune diffusion.


C. Neutralization.


D. Precipitation.
E. Complement binding.

4. A patient consulted a stomatologist about purulent inflammation of his gums. What drug will be the most effective if it is suspected that a causative agent is an anaerobe?


A. Metronidazole. 

B. Co-trimoxazole. 


C. Gentamicin. 

D. Nitroxoline. 

E. Oxacillin sodium.

5. On the 8th day since the patient was inoculated with antitetanic serum because of dirty wound of his foot he has developed rising temperature up to 38°C, pains in the joints, rash and itch. The blood tests revealed leukopenia and thrombocytopenia. Allergic reaction of what type has developed in this case?

A. Delayed type of hypersensitivity. 
B. Anaphylactic.
C. Cytotoxic.

D. Immunocomplex. 


E. Stimulating.

6 .A patient has food poisoning. Laboratory analysis revealed a culture of anaerobic gram-positive spore-forming bacteria. What is the most likely kind of the isolated causative agent?

A. Vibrio parahemolyticus. 
B. Proteus vulgaris. 
C. Clostridium perfringens

D. Proteus mirabilis.

E. Esherichia coli

7. Microscopic examination of a microbal culture revealed fusiform spore-forming microorganisms that get violet-blue Gram’s stain. What microorganisms were revealed?


A. Actinomycete.

B. Diplococci.

C. Spirochaete.


D. Streptococci.

E. Clostridia.

Anthrax

1. It is planned to use the territory of an old cattle burial ground (which is not used for more than 50 years) for building houses. But ground analysis revealed presence of the pathogen of the very dangerous illness. Which of the indicated microorganisms is likely to remain in the ground for such a long time?

А. Brucella abortus. 
B. Mycobacterium bovis. 

C. Yersinia pestis. 

D. Francisella tularensis. 
E. Bacillus anthracis.
2. Fresh smears of vesicular fluid, blood, and lymph node of patient with a characteristic gelatinous edema and localized ulcer on the skin were stained with methylene blue and examined for the characteristic square-ended, blue streptobacilli surrounded by a capsule. Which of the following bacterium was revealed?

A. Brucella abortus.
B. Bacillus anthracis.

C. Yersinia pestis.

D. Klebsiella pneumoniae.
E. Clostridium tetani.
3. There was a record of some anthrax cases among animals in a countryside. The spread of disease can be prevented by means of immunization. What kind of vaccine should be used?

A. STI live vaccine.

B. Diphteria and tetanus toxoids and pertussis vaccine.

C. BCG vaccine.

D. Sabin’s vaccine.

E. Salk vaccine.

Plaque

1. Small, Gram-negative coccobacilli showing bipolar staining were revealed in sputum of the patients with pneumoniae. Which of the following bacterium has such morphological characteristic?

А. B.melitensis.
В. C.diphteriae.
С. S.typhi.
D. M.tuberculosis.    Е. Y.pestis.
Whooping cough

1. A large-scale reaction with parapertusis and pertusis diagnosticums was made in order to make serological diagnostics of the whooping cough. At the bottom of the test-tubes with diagnosticum of Bordetella parapertusis a granular sediment formed. What antibodies did this reaction reveal:


A. Precipitins.

B. Agglutinins.

C. Opsonins.



D. Bacteriolysins.

E. Antitoxins.

P.aeruginosa

1. A 60-year-old patient was admitted to the surgical department because of infection caused by blue pus bacillus (Pseudomonas aeruginosa) which is sensitive to penicillin antibiotics. Indicate which of the given penicillins has marked activity to the P.aeruginosa?

А. Phenoxymethylpenicillin.
В. Oxacillin.

C. Methicillin.

D. Carbenicillin disodium.

E. Benzylpenicillin.

2. Urine examination of a patient with acute cystitis revealed leukocytes and a lot of gram-negative bacilli. Inoculation resulted in growth of colonies of mucous nature that formed green soluble pigment. What microorganism is the most probable cause of the disease?


A. Escherichia coli.

B. Pseudomonas aeruginosa.


C. Klebsiella pneumoniae.
D. Proteus mirabilis.
E. Salmonella enteritidis.

3. A patient suffers from severe postoperative pseudomonadous infection. What of the following antibiotics should be administered in this case?


A. Erythtomycin.

B. Amicacin sulfate.


C. Benzylpenicillin.
D. Doxycycline.

E. Cephazolin.

4. A patient of surgical department complains about pain in the small of her back and in the lower part of her belly; painful and frequent urination. Bacteriological examination of urine revealed gram-negative oxidase-positive rod-like bacteria forming greenish mucoid colonies with specific smell. What causative agent can it be?


A. Pseudomonas aeruginosa.

B. E.coli.
C. Proteus mirabilis.


D. S.pyogenes.



E. Mycoplasma pneumoniae.

5. A patient developed acute cystitis caused by P.aeruginosa during examination in a urologic clinic. Catheterization was revealed as the cause of cystitis. Infections caused by medical procedures are named:


А. Hospital infection.

В. Secondary infection. 


C. Opportunistic infection.
D. Antroponosis infection.


E. Superinfection.
6. A patient of oral surgery department has developed a purulent complication. Bacteriological analysis of the wound discharge allowed to isolate a culture producing a blue-and-green pigment. Which of the listed microorganisms may be a causative agent of the infection?

A. Klebsiella pneumoniae.
B. Bacillus subtilis.
C. Pseudomonas aeruginosa.

D. Staphylococcus aureus.
E. Proteus vulgaris.

Candida

1. Examination of a child revealed some whitish spots looking like coagulated milk on the mucous membrane of his cheeks and tongue. Analysis of smears revealed gram-positive oval yeast-like cells. What causative agents are they?


A. Candida.


B. Fusobacteria.

C. Staphylococci.


D. Actinomycetes.

E. Diphtheria bacillus.

2. Microscopic examination of a Gram-stained scrape from patient’s tongue revealed oval, round, elongated chains of dark-violet gemmating cells. What disease can be caused by this causative agent?


A. Diphtheria.

B. Actinomycosis.

C. Candidosis.


D. Staphylococcic infection.
E. Streptococcic infection.
Spirochetes
1. An 18-year old patient has enlarged inguinal lymphnodes. They are painless, thickened on papation. In the area of genital mucous membrane there is a smallsized ulcer with theckened edges and “laquer” bottom of areyish colour. What is the most probable diagnosis?


A. Lepra.

B. Tuberculosis.
C. Gonorrhea.

D. Syphilis.

E. Tropic ulcer.

2. A man was admitted to the hospital on the 5th day disease that manifested itself by jaundice, muscle aching, chill, nose bleedings. In course of laboratory diagnostics a bacteriologist performed dark-field microscopy of the patient’s blood drop. Name a causative agent of this disease:


A. Leptospira interrogans.
B. Bartonella baciloformis.


C. Borrelia duttonii.

D. Rickettsia mooseri.



E. Calymmatobacterium granulomatis.

3. In the micropreparation made from patient’s regional lymph node punctate and stained according to Romanovsky-Giemsa method, the doctor found out thin microorganisms with 12-14 equal ringlets and pale-pink sharp pointes 10-13 mkm in length. The pathogen of what disease is it about?


A. Syphilis.



B. Leptospirosis.

C. Leishmaniasis.

D. Surra (Trypanosomiasis).
E. Relapsing fever.

4. On bacteriological examination of the blood of a patient there were revealed tightly coiled, thin spirochaetes with fine spirals, end of the organism is bent forming a hook stained with silver impregnation (after Morosov) in black color. What microorganism can it be?

A. Borrelia dutoni.

B. Treponema pallidum.

C. Borrelia recurrentis. 
D. Treponema denticola.
E. Leptospira interrogans.

5. A man died from an acute infectious disease accompanied by fever, jaundice, haemorrhagic rash on the slin and mucous membranes as well as by acute renal insufficiency. Histological examination of renal tissue (stained by Romanovsky-Giemsa method) revealed some convoluted bacteria looking like C and S letters. What bacteria were revealed?


A. Campilobacteria.
B. Spirilla.

C. Leptospira.


D. Borrelia.


E. Treponema.

6. A 14-year-old patient has been diagnosed with Hutchinson’s triad: screwdriver-shaped teeth, parenchymatous keratitis and deafness. What disease are these signs typical for?

A. Lepra.

B. Opisthorchiasis.

C. Toxoplasmosis.

D. Syphilis.
E. Tuberculosis.

Helicobacter pylori

1. A male patient has been diagnosed with gastric ulcer. Bacteriological examination of biopsy material from the affected part of stomach revealed small colonies of gram-negative, oxide reductase-positive flexibacteria that grew on the chocolate agar on the fifth day. Which of the following microorganisms is the most likely causative agent?

A. Helicobacter pylori.
B. Campilobacter fetus.
C. Mycoplasma hominis.

D. Campilobacter jejuni.
E. Chlamydia trachomatis.

2. In order to prevent wound infection associated woth surgical procedures a patient was given a synthetic antiprotozoan drug with a high activity against Helicobacter pylori. Specify this drug:

A. Metronidazole.

B. Chingamin.

C. Isoniazid.

D. Doxycycline hydrochloride.
E. Acyclovir.

3. A patient underwent esophagogastroduodenoscopy. Analysis of the biopsy material enabled doctors to diagnose him with helicobacteriosis. What property of the bacteria found in this patient had to be obligatory taken into account during their cultivation?


A. Colonisation of gastral cells.


B. Presence of six polar flagella.


C. Microaerophilic ability.


D. Absence of spores and capsules.


E. Presence of urease.

Rickettsia

1. A patient with suspicion on epidemic typhus was admitted to the hospital. Some arachnids and insects have been found in his flat. Which of them may be a carrier of the pathogen of epidemic typhus?


A. Houseflies.        B. Cockroaches.      C. Lice.
D. Bed-bugs.      E. Spiders.

Protozoa

1. Systemic amebiasis with involvement of intestines, liver, lungs was diagnosed in a 52-year-old patient. What drug should be prescribed?

A. Quingamine.

B. Metronidasol. 
C. Enteroseptol. 

D. Tetracycline. 

E. Quiniofone.

2. Slime, blood and protozoa 30-200 microns of lengths have been revealed in a man’s feces. The body is covered with cilia and has correct oval form with a little bit narrowed forward and wide round shaped back end. On the forward end a mouth is visible. In cytoplasm there are two nucleuses and two short vacuoles. For whom are the described attributes typical?


A. Lamblia.

B. Trichomonas.

C. Balantidium.


D. Intestinal amoeba.

E. Dysenteric amoeba.

3. A businessman came to India from South America. On examination the physician found that the patient was suffering from Chagaa’s disease. What was the way of invasion?


A. Through dirty hands.

B. With contaminated fruits and vegetables.


C. As a result of mosquito’s bites.


D. As a result of bug’s bites.

E. After contact with sick dogs.

4. A duodenal content smear of a patient with indigestion contains protosoa 10-18 mcm large. They have piriform bodies, 4 pairs of filaments, two symmetrically located nuclei in the broadened part of body. What kind of the lowest organisms is it?


A. Intestinal ameba.
B. Lamblia.

C. Dysentery ameba.

D. Trichomonas.

E. Balantidium.

5. Parents with ill child came to the infectionist. They worked in one of the Asian countries for a long time. The child has sallow skin, loss of appetite, laxity, enlarged liver, spleen, and peripheral lymph nodes. What protozoan illness can be suspected?

A. Amebiasis. 


B. Balantidiasis.

C. Visceral leishmaniasis.
D. Lambliasis. 
E. Toxoplasmosis.

6. Patients with similar complaints applied to the doctor: weakness, pain in the intestines, disorder of GIT. Examination of the faeces revealed that one patient with four nucleus cysts should be hospitalized immediately. For what protozoa are such cysts typical?

A. Trichomonas.

B. Dysenteric amoeba. 
C. Вalantidium.

D. Intestinal amoeba. 
E. Lamblia.

7. 2 weeks since the blood transfusion a recipient has developed fever. What protozoal disease can it be?

А. Amebiasis.

B. Leishmaniasis. 

C. Malaria.

D. Toxoplasmosis. 
E. Trypanosomiasis.

8. A patient has been brought to the hospital with the complaints of headache, pain in left hypochondrium. He has been ill for 1,5 weeks. The sudden illness began with the increase of body temperature up to 39,9°C. In 3 hours the temperature decreased and hydropoiesis began. The attacks repeat rhythmically in 48 hours. The patient had visited one an African country. The doctors have suspected malaria. What method of laboratory diagnostics is necessary to use?

A. Immunological tests.
B. Blood examination. 
C. Stool examination.

D. Examination of vaginal and urethral discharge.
E. Urine examination.
9. A patient has symptoms of inflammation of urogenital tracts. Examination of a vaginal smear revealed big monocellular, pear-shaped organisms with the pointed spike at the posterior end of body, big nucleus and undulating membrane. What protozoa were found in the smear?


A. Trichomonas vaginalis.
B. Trichomonas buccalis.


C. Trypanosoma gambiense.
D. Lamblia intestinalis.
E. Trichomonas hominis.

10. A patient consulted a doctor about bowels disfunction. The doctor established symptoms of duodenitis and enteritis. Laboratory examination helped to make the following diagnosis: lambliosis. What medication should be administered?


A. Erythromycin.

B. Chingamin.


C. Metronidazole.
D. Tetracycline.

E. Monomycin.
11. A female patient consulted a doctor about a sense of epigastric discomfort, nausea and anorexia. A duodenal content analysis revealed lamblia. What drug should be prescribed?

A. Rifampicin.
B. Chingamin.
C. Metronidazole.   D. Acyclovir.
E. Isoniazid.

12. A lymph node punctuate of a patient with suspected protozoal disease was examined. Examination of the stained specimen (Romanovsky’s stain) revealed some crescent bodies with pointed end, blue cytoplasm and red nucleus. What protozoan were revealed in the smears?


A. Dermotropic leishmania.
B. Toxoplasma.


C. Viscerotropic leishmania.
D. Trypanosomes.
      E. Malarial plasmodiums.

13. A gynaecologist was examining a patient and revealed symptoms of genital tract inflammation. A smear from vagina contains pyriform protozoa with a spine, flagella at their front; there is also an undulating membrane. What disease can be suspected?


A. Urogenital trichomoniasis.

B. Toxoplasmosis.

C. Lambliosis.


D. Intestinal trichomoniasis.

E. Balantidiasis.

14. A woman recently returned from Africa complains of having paroxysmal attacks of chills, fever, and sweating; these attacks last a day or two at a time and recur every 36 to 48 hours. Examination of a stained blood specimen reveals ring-like and crescent-like forms within red blood cells. The infecting organism most likely is:

A. Plasmodium falciparum.

B. Toxoplasma gondii.

C. Trypanosoma gambiense.

D. Leishmania donovani.

E. Schistosoma mansoni.
15. A woman delivered a dead child with multiple developmental defects. What protozoan disease might have caused the intrauterine death?


A. Toxoplasmosis.

B. Lambliasis.
C. Leshmaniasis.


D. Malaria.


E. Amebiasis.
16. A 30-year-old patient complains about having abdominal pain and diarrhea for five days; body temperature rise up to 37,5°C along with chills. The day before a patient had been in a forest and drunk from an open water reservoir. Laboratory analyses enabled to make the following diagnosis: amebic dysentery. What is the drug of choice for its treatment?

A. Levomycetin. 

B. Furazolidonum.

C. Emetine hydrochloride.

D. Metronidazole.
E. Phthalazol

17. A patient working at a pig farm complains about paroxysmal abdominal pain, liquid feces with admixtures of mucus and blood, headache, weakness, fever. Examination of large intestine revealed ulcers from 1 mm up to several cm large, feces contained oval unicellular organisms with cilia. What disease should be suspected?

A. Trichomoniasis.
B. Balantidiasis.

C. Toxoplasmosis.

D. Amebiasis.

E. Lambliasis.

18. A healthy man is in a region with high risk of catching malaria. What drug should be administered for individual chemoprophylaxis of malaria?


A. Sulfalen.


B. Metronidazole.

C. Chingamin.


D. Biseptol.


E. Tetracycline.
19. Examination of duodenal contents revealed some pyriform protozoa with twin nuclei and four pairs of flagella. There were two supporting filaments between the nuclei and a suctorial disc on the ventral side. What representative of protozoa was revealed in this patient?

A. Lamblia.



B. Trypanosome.

C. Toxoplasma.

D. Intestinal trichomonad.

E. Leishmania.

20. A patient consulted a dentist about itching and burning in the oral cavity; high temperature. The patient was diagnosed with trichomonal gingivostomatitis. What drug should be chosen for his treatment?

A. Metronidazole.
B. Gentamicin sulfate.
C. Doxycycline hydrochloride.

D. Nystatin.

E. Ampicillin.

21. While examining a blood smear taken from a patient and stained by Romanovsky’s method a doctor revealed some protozoa and diagnosed the patient with Chagas disease. What protozoan is the causative agent of this disease?

A. Leishmania donovani.

B. Leishmania tropica.
C. Trypanosoma cruzi.
D. Trypanosoma brucei.

E. Toxoplasma gondii.

Sanitary microbiology

1. Sanitary bacteriological research on water by the membrane filter method revealed two red colonies on a membrane filter (Endo agar) through which 500 ml of analyzed water were passed. Calculate the coli index and coli titer of the analyzed water:

A. 4 and 250. 
B. 250 and 2.
C. 2 and 500.
D. 250 and 4.
E.500 and 2.

2. During the regular sanitary-epidemiological inspection of a pregnancy, the bacteriological analysis of air was performed. The air was found to have bacilli, yeast fungi, hemolytic streptococci, micrococci. Which of the detected microorganisms indicate the direct epidemic danger?

A. Micrococci.
B. Bacilli.
C. Yeast fulgi.
D. Haemolytic streptococci.
E. -.
Influenza

1. During the breakout of acute respiratory infection in order to diagnose influenza the express-diagnosis, based on:

A. Precipitation. 

B. Opsonization. 
C. Agglutination.

D. Complement binding (fixation).

E. Immunofluorescence.

2. A patient was hospitalized with diagnosis “Influenza”. Clinical manifestations show sings of neurotoxicosis and hemorrhagic syndrome. These symptoms are characteristic of the influenza virus:


A. Type A.


B. Type B.


C. Type C.

D. Chicken influenza.
E. All of the above.

3. Material taken from a patient with provisional diagnosis “influenza” was reffered to a laboratory. For virological examination the hemadsorption reaction was applied. This reaction can be applied for detection of the following viruses:


A. DNA-genomic viruses.

B. Viruses containing hemagglutinin.


C. All the simple viruses.

D. Any viruses.
E. All the complex viruses.
4. A virological laboratory obtained pathological material (mucous discharges from nasal meatuses) taken from a patient with provisional diagnosis “influenza”. What quick test will allow to reveal specific viral antigen in the material under examination?


A. -




B. Direct and indirect immunofluorescence test.


C. Hemagglutination inhibition assay.


D. Direct and indirect fluorescence immunoassay.


E. Radioimmunoassay.

Enteroviruses

1. A culture of monkey cells (Vero) and a group of mouse sucklings were infected with an inoculum taken from a child with provisional diagnosis “enterovirus infection”. There was no cytopathic effect on the cell culture but mouse sucklings died. What enteric viruses might have caused disease of this child?


A. ECHO virus.

B. Coxsackie B.


C. Unclassified enteric viruses 68-71.
D. Coxsackie A.
E. Polioviruses.

Tick-born encephalitis 

1. A patient with clinical signs of encephalitis was admitted to the infectious hospital. In his anamnesis there is information about tick bite. During the hemagglutination inhibition reaction there were found antibodies against the pathogen of tick borne encephalitis in dilution 1:20, which is not diagnostic. What should the doctor do next, after he has got such results?

A. To repeat the examination with another diagnosticum.

B. To deny the diagnosis of tick-borne encephalitis. 

C. To examine the same serum.

D. To repeat the examination of the serum taken 10 days later.

E. To apply more sensitive reaction.

Rubella
1. A pregnant woman was registered an antenatal clinic and underwent complex examination for a number of infections. Blood serum contained IgM to the rubella virus. What is this result indicate of?


A. Of primary infection.

B. Of recurring infection with rubella virus.


C. Of a chronic process.

D. Of exacerbation of a chronic disease.


E. The woman is healthy.

Herpes viruses
1. A patient has herpetic rash. What medication should be administered?


A. Biseptol.


B. Acyclovir.
C. Gentamycin.


D. Clotrimazole.

E. Benzylpenicillin sodium salt.
Hepatitis viruses

1. The donor who for a long time didn't donate the blood was investigated with IFA method. Anti-HBs antibodies were revealed. What does positive result of IFA in this case mean?

A. Chronic hepatitis B. 
B. Acute hepatitis B. 
C. Acute hepatitis C. 

D. Chronic hepatitis C. 
E. Previous hepatitis B.

2. A health care worker is immunized against Hepatitis B virus [HBV]. What viral protein will be bound by the virus-neutralizing antibodies produced in response to vaccine antigen?

A. HBV matrix protein.
B. HBV surface antigen.

C. HBV e antigen.

D. HBV core antigen.
E. HBV Reverse transcriptase.

3. In a chronic carrier of hepatitis B virus (HIV), which positive test is most indicative of high infectivity?

A. Hepatitis B surface antigen (HBsAg).


B. Hepatitis B core antigen (HBcAg).

C. Hepatitis B e antigen (HBeAg).
D. Anti-HBsAg.

E. Anti-HBeAg.

4. During surgical operation a blood transfusion was made. The blood must be checked to find antigens of some disease. What disease is expected to be found?

A. Virus of hepatitis E.
B. Virus of hepatitis A.
C. Enterovirus.
D. Virus of hepatitis В.
E. Adenovirus.

5. A woman develops hepatitis in 2 moths after hemotransfusion. During research neither HBsAg no anti-HBs Ig were detected. Which of the following is the case of the disease:


A. Hepatitis A.
B. Hepatitis B.
C. Hepatitis C.



D. Hepatitis D.
E. Hepatitis E.

6. A hepatitis outbreak was registered in a settlement. This episode is connected with water factor. What hepatitis virus could have caused the infective outbreak in this settlement?


A. C.

B. B.

C. D.

D. G.

E. E.

7. One of your young patients tells you that he frequently uses illegal drugs, which he administers by the intravenous route. For which of the following viruses does this habit place the patient at high risk of infection?

A. Hepatitis C virus.

B. Coxsackie virus.
C. Hepatitis A virus.


D. Hepatitis E virus.

E. ECHO virus.

8. Which one of the following immunizations should be administered immediately after birth?


A. Diphtheria-pertussis-tetanus (DPT) vaccine.


B. Haemophilus influenzae type b vaccine.

C. Hepatitis B vaccine.

D. HIV vaccine.





E. Oral polio vaccine.

9. During genetic researches (PCR) of the specimen of a patient with hepatitis the genome of a defect virus was identified. This virus is a satellite of hepatitis B. Which of the following causative agent of viral hepatitis was identified:


A. Hepatitis A.
B. Hepatitis B.
C. Hepatitis C.


D. Hepatitis D.
E. Hepatitis G.

10. Dentists are at increased risk of being infected with the type B hepatitis. What preparation should be used for reliable active prevention of this disease?

A. Monoclonal HBsAg antibodies.

B. Live type B hepatitis vaccine.

C. Specific immunoglobulin.

D. Antihepatitis serum.

E. Recombinant vaccine of HBsAg proteins.

HIV
1. The examination of blood serum of a patient with immunodeficiency signs revealed antybodies to gP120 and gP41 proteins. The presence of what infection of this patient does it confirm?

A. HIV infection.

B. HLTV 1-infection. 
C. ECHO-infection. 

D. TORCH-infection. 
E. HBV infection.

2. Blood analysis of a patient showed signs of `HIV infection (human immunodeficiency virus). Which cells does HIV-virus primarily affect?
A. Specialized nervous cells (neurons). 

B. Cells that contain receptor IgM (B-lymphocytes).
C. Mast cells.


D. Cells that contain receptor CD4 (T-helpers).
E. Proliferating cells (stem hematoplastic cells).

3. RNA that contains AIDS virus penetrated into a leukocyte and by means of reverse transcriptase forced a cell to synthetize a viral DNA. This process is based upon:

A. Reverse transcription.
B. Convariant replication.

C. Operon depression.

D. Operon repression.
E. Reverse translation.

4. Examination of a young man in the AIDS centre produced a positive result of immune-enzyme assay with HIV antigens. Patient’s complaints about state of his health were absent. What can the positive result of immune-enzyme assay be evidence of?


A. Being ill with AIDS.

B. Having had AIDS recently.


C. HBV persistence.

D. HIV infection.


E. Being infected with HBV.

5. Quite often the cause of secondary immunodeficiency is an infection involvement, when the causative agents propagate directly in the cells of immune system and destroy it. The following diseases are characterized by:

A. Tuberculosis, mycobacteriosis.
B. Poliomyelitis, type A hepatitis.

C. Q-febris, epidemic typhus.

D. Dysentery, cholera.

E. Infectious mononucleosis, AIDS.

6. HIV has gp41 and gp 120 on its surface interacts with target cells of an organism. Which of the following human lymphocyte antigens is gp 120 complementary bound with?

A. CD8. 

B. CD19. 
C. CD4.
D. CD28. 
E. CD3.
7. The immunoblot detected gp120 protein in the blood serum. This protein is typical for the following disease:

A. Tuberculosis. 
B. Poliomyelitis.
C. Syphilis.

D. HIV-infection.
E. Virus B hepatitis.

Rotaviruses

1. A three-year-old child has had marked diarrhea for three days. Immune electron microscopy of his excrements revealed bi-layer pseudocovered capsid viruses that looked like small spoke wheels. What viruses have been revealed?

A. Reoviruses.   

B. Rotaviruses.
C. ECHO viruses.

D. Coxsackie viruses.

E. Coronaviruses.
Smallpox

1. The contents of vesicles that appeared on the mucous membrane of a patient with variola was sent to a virological laboratory. Which of the listed changes were revealed during the smear microscopy?

A. Babesh-Negri bodies.
B. Pashen bodies. 
C. Syncytium.

D. Guarnieri bodies. 

E. Babesh-Ernst bodies.
